HR
Hapa—F
s T
GRS
Hapa—F
s 3,
GILEIAT
Hapa—F
A st
A e R =

STAR

REBMN—7

R

K55108

TFT3500
TFT3500-13

K55112

TFT5000
TFT5000-13

K55116

TFT8000
TFT8000-13

* BmMTEN DRI, W Ehmitia RN e I EFZELY,
- A mO—ERICIE, FEoH Y MRTDAHDERRAHIET,

73

Ne=ttIHI 7?7 UF vy o






D T3EXIZDNT

HEBRmOMIGERICDONT

GE, FRUHEBEZ ZERE < 7ZE 0,

—

SISICICIcE
S

[y

20 B

ﬁ

S

5=

R

jix3

o Zo Eo

PR

!
)

B O3

XEREREEXIHRRRBE LT, RRICREA
DAR—LTL—FIRRTLTLWET,

2. o =], [ ]iE UFozea®kLT
BOES,

(=] v nl, MABAENTO S WD
B 2 12 0 F72 20

(] 7 v s 5 6 T
TS L7 i

3. RHEEN[ | iceoCnd b olt, il
i EEVD, IR R DD ETOT, ZOH
BE SRR SO & E T,

4. MO —EIZIE, & -y MERTBOHR
DR B T3, THLOBILI TR ZE
W, FERE BRSO 0ERL TR >
MRFED DX E SE W2 & FT,

KEBITWRFICLY FERSBIR - MEEZLE
TLHLZEBRHYET,

FEER A S A IERT A 2 B E O SRO S TEE W,
ML BT D £9 & MO
PEREISZ BT 2580 H 0 £,

Z DR OAE AR SR OAAGEERR GFI) 13, B
EFHUVR%9FETY, ZEL, fIGFERNTH-
Th., FERESIZ OW TR & & THR S E T
W GabH Y £,

FEET S DU IR RIBIZ 1T ERE O AR EEIR THE
TLETA, BHEFEREIER TH->Th, Mt
#5 D ZHFED B o TG BT K UMk 2o
TIMHRESETWEEEET,

REEIZDULNT

PR DO UGBTI DFR & 720 £4 DT, 1T
TLES W,

godE L7e G B Pl B SR~ S 72 IE LUTE
MBI E B2 D581E, BRIEOIRIN 2D £4 D
TITEELSIZSN,



TFT3500-5000-8000 EX*HFL—7
JL—L-FO—/n-JYwys

&S| 55 5 B i 4 i A% fii =

TFT3500 .49, 50,

1 | 1327842006 2HhA4HFCP ;3500 1 0K o
TFT5000 5.49~52,

1 |1629350000 a4 HAssy ;5030 (S) 1 Shookrt o

1 | 1629340000 a4 HFAssy ;8030 (S) 1 gggi;?k \’?4}%52’

2 | 1643850000 HI7T7LFH oY 6X65 (P) 80 | TFT3500

2 |1643850000 HI7T7LFE o RY 6X65 (P) 132 | TET5000

2 | 1643850000 YT T7LRH L RY 6X65 (P) 156 | TFT8000

3 1071520006 | /8% 1 | TFT3500

3 1331220006 | /S% 1 | TFT5000

3 1070940006 | SN 1 | TFT8000

4 | BSZ10060 afHERNLE 7T M10OX60 4

5 |NSZ10 affHZFyh 8 2¥=2 MI10 4

6 | WSA10 NEYPHF 337 M1O 4

7 | 044098500M Jv¥y ;10 4

8 | KBB-4550B =R RIARTY 7 B 45X50X50| 4

9 | 132695000M ¥ 7 FCP 2 | TFT3500, 5000

9 | 133118000M ¥ 7 FCP 2 | TET8000

10 | WRA30 v 7% HFx M30 2

11 | 000713000M Xy v ALF vk 2

12 | Ws30 NxYPHx 237 M30 2

13 | PC050036 JYUELY 5X36 2

14 | 0787171004 =SV abe g 1

15 | 078718200M Y 16X76 1

16 | KMST020 TFYravukryy 7 20 1

-1-




TFT3500-5000-8000 EX*AHFL—7
JL—L-FO—/n-JYwys

AHER| B oM F B il i A i [EES fii =
17 | 1567762006 7Y vYCP; L 1 | TFT3500, 5000
17 | 1483954006 7Y vYCP;8000L 1 | TFT8000
18 | 1567772006 7Y vYCP ;R 1 | TFT3500, 5000
18 | 1483964006 7Y vYCP;8000R 1 | TFT8000
19 | 132789000M 'y p16X112 4 | TFT3500, 5000
19 | 132789000M i p16X112 6 | TET8000
20 | PC040025 ULy 4X25 8 | TFT3500, 5000
20 | PC040025 JUYEL 4X25 12 | TET8000
21 | 156779100M v 2
22 | 145116000M AT T 2
23 | PC040025 JUEY 4X25 2
24 | WRA16 IR M16 2
25 10009301000 |[~">P¥F; R—150TR 2 | R28ft
26 | 0009620000 |/~ ¥F;Y—60CTIS 2
27 10009600000 | /N> ¥FW—60C I 2 | R28ft
28 | NP05 ATV T F v b M5 6
29 | 1625850000 T~ ;3500 2 | TFT3500
29 | 1625870000 T3 5000 2 | TFT5000
29 | 1625890000 T~ ;8000 2 | TET8000
30 | 1511360000 TV rA a7 223 1
31 | 1579840000 TYL  BATY I UXT Y8 30 1 | TFT3500, 8000
31 | 1633870000 T) G BATXY I UXRTYTT5 1 | TFT5000
32 10940930000 2Ny Sw—r 2
33 1061641000 TV rfay 1 1
34 | 1112330000 FYL X g F oA 1
35 | 1075050000 FgL XY A Ya 3500 1 | TFT3500
35 | 1075070000 FYL XY AU gy 5000 1 | TFT5000
35 | 1331590000 FYL XY AU g 8000 1 | TFT8000
41 | 1627220004 Fa—_CP ;3500 1 | TFT3500, Ehahfibia AR mr
41 | 1627240004 Fa—_CP ;5000 1 | TFT5000, "
41 | 1627260004 Fa—_CP ;8000 1 | TFT8000, ”
42 | 1627051003 7L —ALCP ;3500 1 | TFT3500, ]
42 | 1629471003 ZL—ALCP ;5000 (S) 1 | TFT5000, I
42 | 1629451003 7L —ALCP ;8000 (S) 1 | TFT8000, I
45 162927000 | 7L —hk:; 1. 2kg 3 | TFT5000
45 162927000 | 7L —hk:; 1. 2kg 2 | TET8000
46 | BSZ10055 afHZRLE 7T M10OX55 2 | TFT5000
46 | BSZ10045 afHZRNLE 7T M10X45 2 | TET8000
47 | WSAL0 NEPHR 337 M10 2 | TFT5000, 8000
48 | NSZ10 affAFyh 8 2¥=2 M10 2 | TFT5000, 8000
49 | 1327840016 2HAH 8 | TFT3500, MiE184mm
49 | 1629360006 aHA4K;3500%X184 10 | TFT5000, 7418
49 | 1629360006 ahA4 % ;3500xX184 11 | TFT8000, 74 1H|
50 | 1327842026 a2l A H 2 | TRT3500, 111 1mm, WE¥iiAs 1AL
50 | 1629400006 a4 H ;400X 184 10 | TFT5000, HifH|
50 | 1629370006 a4 H ;895X 184 11 | TFT8000, HiffH|
51 | 1629410006 ahA4% ;3500x143 1 | TFT5000, #& {8, H 14
51 | 1629380006 24K ;3500X129 2 | TET8000, 7 M8, Wisds 1A
52 | 1629420006 afAHK;400%X143 1 | TFT5000, Aifil, #9147
52 | 1629390006 ahA4H ;895X129 2 | TFT8000, Aiffhl, s 1AL

-2-




TFT3500-5000-8000 EX*HFL—7
JL—L-FO—/n-JYwys

g
3.8 7

‘ 1,49,50,51,52

AHER| W M F B B m 4 i [EE T =
53 | 1339780000 STAR~—Z7 7L ; 40 2 | TFT3500, 5000
53 | 1339790000 STAR~—Z7 7L ; 6 3 2 | TFT8000
54 | 1600840000 VAR AV = Ry 1
55 | 1601500000 TYL s gray Iy R 1
56 | 1601510000 L 15km/ h 1
57 | 1511820000 TV A a7 269 1
58 | 1511830000 SRV ALy 270 1
59 | 162584000M Vo7 Fx—r 10X40PX38L 1
60 | 1623090000 YYw s TS—1. 7t 2
61 | WRAL0 eI AR M10 2 | TFT5000, 8000




TFT3500 ERERLL—F
& RAN
,
TFT3500
A& 5 o5 5 B mi 4 i) A% T =

ASY | 1326900000 AL R (F) 1| R1~7, 126
1 | 111304000 |[,~> KA CP 1

2 | PS080032 2FY T 8X 32 1

3 | 1327821004 777> hCP 1

4 | 075318000M WAV 2

5 0728600000 Jyiy; 21X5 1

6 | 0460032000 ¥ 7 kS 1

7 | 1327810004 V7 725 hCP 1

8 | 107097000M Ly ¢916X104 1

9 | 147858000M = 1
10 | 000087200M |_X—XZEr ; 16X2. 3 2
11 | 000738000M JoFEL ;6 1
12 | PS080025 AFY T 8X 25 1
13 0939160000 FyAHZ— ;150 1
14 | BSZ10025 aBFHERLE 7T M10X25 4
15 |NSZ10 aBFHFvy b 8 2va M1O0 4
16 | WSA10 NEYPHx 337 M1O0 4
17 | 044098500M Tyl ;10 4




TFT5000-8000 EERAKL—F

ARV
14349-1
RHES ) B n F 5 Woodh A W %% L] %

ASY | 1496220004 AZRCP ;S 73 1| A1~3fF
1 1496200004 AZ R S—1 /S

2 1496150024 KA —/LCP 1

3 1496150044 AT S 1

4 107068000M B $20X132 1

5 107069000M B 020 1

6 000088100M N—ZEr; 19X3 2

7 000738100M VoFEY; 6 1

8 PC040050 UIEY4X50 1




TFT3500-5000-8000 EXArL—7
= AR Ar ) =%

e I R s B mi 4 i) A% T
1 [1327910004 777 v hCP ; R 1
2 | BSZ08045 af RV E 7T M8X45 2
3 | BZ16050 ALEF 8.8 M16X50 4
4 | 111125000M 77> RCP 2
5 |111120100M (= 2
6 | 111121100M 7L —k 1
7 | NNF12 75 o0FAurFy b M1 2 1
8 | 111484000M AT T 2
9 | NNFO8 75 0FAurFy b M8 2
10 | 107069000M Y 920 1
11 | 000738000M UoFEL ;6 1
12 | PS080032 AFY LT 8 X 32 2
13 | 111122000M 777 v hCP ;L 1
14 |BZ12035 ALk 8. 8 M12X35 7
15 | 1071193006 YU HA CWP50X435X650 1 | R36ftf
16 | 107120000M Ly 925X130 2
17 | 000738000M JoFEL ;6 4
18 | 111152000M 777 v hCP ; R 1
19 | 042783600M Ty ;12 8
20 |KHO800750PP | =7 Yk —A 1,/2X750 4—4 1
21 |BZ12040 ALEF 8.8 M12x%X40 1
22 | 2086-08 TR PT1,/2 1
23 |2091-08 T4—;PT1,/2 1
24 |2083-08-04 =7V, PT1,/2XPT1,/4 2
25 |1015-08 ARaxs % PF1,/2XPT1,/2 1

-6-




TFT3500-5000-8000 EXArL—7
= AR Ar ) =%

AHEE| & W & & B i 4 i A% fii
26 | 1033-08 A—AxT)R PF1,/2XPT1,/2 1
27 |2082-08 a7 777, PT1,/2 1
28 | 0009830000 ANy RN T 1,4 1
30 |109838200M | FL— kK 1
31 |8042290000 FYL s X3 A4 F60 1
37 | 132696000M =R 1 | TFT3500
37 | 133119000M =R 1 | TFT5000
37 | 133143000M =N 1 | TFT8000
38 | 107215000M | AT — 1
39 | BZ12030 RLR 8.8 M12X30 1
40 | 042783600M Ty ;12 1
42| 000761100M TJvix; 16 4
43 1327900004 |7 F47 v hCP ;L 1
44 | NZ16 Fvh 8 232 MI16 4
45 | WSA16 NxYPHx 337 MI16 4
46 | NZ12 Fvh 8 2va2 M12 9
47 | WSA12 NxYPHx 337 M1 2 9
48 | 146598000M ;2.3 - | TFT8000




TFT3500-5000-8000 %M KL—3
N E

A& 5o 5 B mi 4 i) % T =
1 | 1125522000 V¥Z.7; 3F 2
2 | NN05 FTAurtvh M5 4
3 11601350000 NI F0F Y 1
4 | CP04025 +FRaxyY M4 X25 2
5 | NNF04 7oAy b M4 2
6 | 1603681000 rKyvaro4h; 2PG 2
7 | CP03016 +FRaxy M3 X16 4
8 | WRAO3 v 7R M3 4
9 | NNO3 FA4nmrF v b M3 4
10 | 1624850000 IN—RA G N 1
11 | ILT300 Afvany %4 4. 8X301 6
12 | 162484000M T 1
13 | BSZ08025 aBFHERLVE 7T M8X25 2
14 | NSP0O8 aABEATY Ty N 4 M8 2
15 | 1604031000 NI N A 1
16 | 801552000M Jyiy ;6. 1X1. 6 4
e FFar,24V
17 |1624931000 RKovaro4h; 2PG/24V 2 NS
18 | 1630370000 T2 N—FRACP ; a7 R 1 | A7 vav




TFT3500-5000 =¥HLL—7
BAXNNT %Y

/./
e rd
e
P
TFT3500-5000 b
RHES| G F i O SO (S &l

1 |1637600000 | ¥ A% ;6. 00—-9—-10PR 4| TFT3500
1 | 1633970000 |#A¥ ;6. 50-10—-10PR 4| TFT5000
2 |1637610000 |F=2—7 ;6. 00—9 4 | TFT3500
2 [1633980000 |F=—7 ;6. 50—10 4| TFT5000
3 |0649061000 |HA—/ ;4. OOEX9DT 4| TFT3500
3 | 1070621000 |&A—/L ;5. 0O0OFX10DT 4| TFT5000
5 | BZ12025 ALk 8.8 M12X25 24

6 |NZ12 Fvyh 8 2va MI12 24

7 10004075004 |7 3 A6 2X80 4| TFT3500
7| 1336741004 |7 ; AT2X85 4 | TFT5000
8 |J30206 T —F =7V ;30206 4 | TFT3500
8 | J30207 TN =7 =TV ;30207 4 | TFT5000
9 | J30208 FT——n—F—X7Y ;30208 4| TFT3500
9 | J30209 TN —F =7V ;30209 4| TFT5000
10 [ 000501000M | > —/LTU v v ; 40X80 4| TFT3500
10 000502000 |+ =AU vy ; 55X100 4| TFT5000
11| WRA24 LA FR M24 4 | TFT3500
11 | WRA30 EZ7H¥HR M30 4| TFT5000
12 000712000 | F ¥ v A/LF v b ;M24X1. 5 4 | TFT3500
12| 000713000M | ¥+ v A/LF v b 4| TFT5000
13| PC040032 JUEY 4X32 4 | TFT3500
13| PC050036 JUEY 5X36 4| TFT5000
14 | 000415000M | ¥+ v 7 ; 62 4 | TFT3500
14 000416000 | ¥+ >~ ; 80 8 | TFT5000




TFT3500-5000 =¥HLL—7
BAXNNT %Y

»

TFT3500-5000
AHER| W oM’ B B i A i % T =
15 [ 000420000M |[A/LF;M12X1. 5X50 24 | TFT3500
15 107208000 |A/LF;M16X1. 5X55 24 | TFT5000
16 | NZ12150 Fvh 8 232 M12X1. 5 24 | TFT3500
16 | 000425000M | ARA —/LFw b 24 | TFT5000
17 | WSA12 NEPFH%X 337 M1 2 24 | TFT3500
18 | WSA12 NEXPFHX 33a7 M1 2 24 | TFT3500
18 | WSAl6 NEXHFHX 3347 M16 24 | TFT5000
19 | WSA12 NEXHFHX 33d7 M1 2 24
20 | ONBS1 JV)—A=v7NV B PT1,/8 4
21 | 1637620000 7797 ;6. 00—9 4 | TFT3500
21 | 1633990000 7797 ;6. 50—10 4 | TET5000
- TFT3500
22 | 1557041000 AA¥27 ;6. 00—9—10PR 4 B3, 5.6, 19, 216+
22 | 1634000000 AA¥27 ;6. 50-10—10PR g | 15000

H1~3,5,6,19, 211f

-10 -




TFT8000 BERrL—3
BAXNT LR DY

TFT8000
AHEE| & M & & B i 4 i A% fii =

1637600000 ZAL¥ ;6. 00—9—10PR 8
2 11637610000 Fa—7 ;6. 00—9 8
3 | 1070571000 AA— ;4. O0OEX9DT 8
5 |Bz12025 AR 8.8 M12X25 48
6 |NZ12 JFvhk 8 2v=2 M12 48
7 | WSA12 NEXPFHX 33a7 M1 2 48
8 |1336741004 |7 ; A7T2X85 8
9 | 730207 TR0 —F—_7Y 7 ;30207 8
10 | J30209 TR0 —F—_7U 7 ;302009 8
11 | 000502000M =Ty 55X100 8
12 | WRA30 t7H%HFR M30 8
13 | 000713000M | ¥+ v A/LF v b 8
14 | PC050036 JUYEY 5X36 8
15 | 000416000 |F+v v~ ; 80 8
16 | 107208000 |A/LF:;M16X1. 5X55 48
17 | 000425000M | ARA —/LF v b 48
18 | WSA16 NxYPH+x 337 MI16 48
19 | ONBSI1 7Y —A=v7F) B PT1,/8 8
20 | 1336762004 ¥/ CP ;590 2
21 | 1071061004 ¥ 7 KCP 2
22 | 0730921000 A B 4
23 | 128113000M Ty 21X65 2
24 | 066208100M Jwiy; 51X3. 2 4
25 | BZ20045 AL 8. 8 M20X45 2

-11 -



TFT8000 BERrL—3
BAXNT LR DY

TFT8000
A& 5o 5 B i A i % T =
26 | WSA20 NREYPHF 347 M20 2
27 | ONAS1 JV—ZA=v 7 A PT1,/8 2
28 | 1637620000 79756, 00—9 8
29 | 1557051000 AA¥27 ;6. 00—9—10PR 8 | FL1~3,5~7, 28ff

-12-



TFT3500-5000 EXRAKL—F
TA)IZYyMFTaY)

A& 5 s & 5 B mi 4 i) A% T =
1 | 1552420000 Fy ;3500 2 | % TFT3500
1 | 1552410000 Fy % 5000 2 | % TFT5000
2 | 1565020000 Xy v/ 4 | %
3 | 1552440000 AL 8 | %
4 | BSZ08025 afHZRLVE 7T M8X25 8 | %
5 | WSA0S NEXFH X 332U MS 8 |
6 | NSzos afHZFyh 8 2¥a2 MS 8 | X
7 1000453000 |TFAHEL ;9 2 | %
8 | 155257000M KL CP 8 | %
9 | 155247000M 7% v hCP 8 | %
10 | WRAL6 IR M16 16 | %
11 | 155250000M s 9p16X115 8 | %
12 | 000087200M |X—XZE>r ; 16X2. 3 16 | 3%
13 | 155286000M | /34 7 6 | %
14 | BSZ10025 afARLE 7T M10X25 16 | %
15 | WSA10 NREPHF 337 M1O 16 | 3%
16 | NSZ10 afZFvyhk 8 2¥=2 M10 16 | %
19 | 1552870000 FYL s X g F oA 1%
X AT

-13-












nj
TH]

g

S—2406180

F & A # 0668555 F m 1 L K # 1 0 6 1 F ih 2
TEL 0123-26-1123
FAX 0123-26-2412

F M E XM 066855 FmmLEEREH:H; 1 06 1 F M 2
TEL 0123-22-5131
FAX 0123-26-2035

098-4100 XIEMEEMFLEHORY1191EFM44
TEL 0162-82-1932
FAX 0162-82-1696

BOIL B EPT 0802462 W LA 2 2% 1 THEH1 2% 4
TEL 0155-37-3080
FAX 0155-37-5187

PIREEXR 086-1152 FEZMHZFRHILET 2 TH 16 &F 2
TEL 0153-72-2624
FAX 0153-73-2540

FRIEETAEAMTILEMRE 1 111E]120F3
TEL 0198-46-1311
FAX 0198-45-5999

BB EHERKEHFSETH2 1 — 1
TEL 022-353-6039
FAX 022-353-6040

vl B ¥ P 3230158 HF K B /bt R 2 5 1 2 — 1
TEL 0285-49-1500
FAX 0285-49-1560

WA R EPT 4850081 BHRB /N THEANFTIHG 78 — 1
TEL 0568-75-3561
FAX 0568-75-3563

B = Z¥EpPr 7000973 MLEBMLUMAEAXRTFEHF 704 —103
TEL 086-243-1147
FAX 086-243-1269

He A B % fr 8618030 REAEBEAMER/MILAT1 6 3 9 — 1
TEL 096-389-6650
FAX 096-389-6710

OB EFT 8851202 EMEMB T ESWHETEELY 1003 —2
TEL 0986-53-2222
FAX 0986-53-2233

Hlge
Ho}
1113
e
3

1t & 8 ¥ PFr 028-3172

DiE

it
m

W& & % PFr 984-0032





